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QUESTION 1

What factors will have the most significant affect on the amount of wireless bandwidth available to each station within a
BSS? (Choose two) 

A. The number of client stations associated to the BSS 

B. The power management settings in the access point\\'s beacons 

C. The presence of co-located (10m away) access points on non-overlapping channels 

D. The data rates at which nearby client stations are transmitting and receiving data 

E. The layer 3 protocol used by each station to transmit data over the wireless link 

Correct Answer: AD 

 

QUESTION 2

Given: Two co-located 802.11b/g/n APs can interfere with one another and cause contention and collisions, even when
the two APs are operating on non-overlapping channels (e.g. 1 and 6). 

What deployment flaw could cause this problem? (Choose two) 

A. The access points are mounted too closely to one another. 

B. Reflective objects in the area are causing significant multipath. 

C. A client station is using active scanning to probe for access points on multiple channels. 

D. The output power on the access points is too high. 

E. A client station authenticates to both access points, but does not associate. 

F. The access points are not synchronized to the same NTP server. 

Correct Answer: AD 

 

QUESTION 3

What WLAN system feature is required to produce a scenario with the following configuration on a single access point?
(Choose 2) 

1.

 SSID = Guest / BSSID = AA:AA:AA:AA:AA:AA / 

VLAN = 22 / Subnet = 192.168.22.0 / RF Channel = 6 

2.
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 SSID = Corporate / BSSID = BB:BB:BB:BB:BB:BB / 

VLAN = 33 / Subnet = 192.168.33.0 / RF Channel = 6 / User Type A 

3.

 SSID = Corporate / BSSID = BB:BB:BB:BB:BB:BB / 

VLAN = 44 / Subnet = 192.168.44.0 / RF Channel = 6 / User Type B 

A. Multiple WLAN Profiles 

B. Call Admission Control 

C. Virtual Cell with SCA 

D. Access Categories 

E. User-based authentication 

F. Dual-radio AP hardware 

G. Integrated DHCP server 

Correct Answer: AE 

 

QUESTION 4

In addition to throughput enhancements, what other improvements does 802.11n provide when compared with
802.11a/g? (Choose 2) 

A. Introduces "fast transition" roaming protocols for VoWiFi phones 

B. Better link reliability between 802.11a/b/g client devices and 802.11n APs 

C. Improves service quality for real-time applications at greater distances 

D. Increases in receive sensitivity enhance RTLS location accuracy 

E. Stronger security with more robust encryption modes. 

Correct Answer: BC 

 

QUESTION 5

Given: As a station moves away from the access point to which it is associated, it changes its data rate from 54 Mbps to
48 Mbps and then to 36 Mbps. What IEEE 802.11 term is used to describe this functionality? 

A. Dynamic Rate Switching 

B. Multirate Control 

C. Modulation and Coding Selection 

PW0-104 Practice Test | PW0-104 Study Guide | PW0-104 Exam Questions                                3 / 5

https://www.geekcert.com/PW0-104.html
https://www.geekcert.com/PW0-104.html
https://www.geekcert.com/PW0-104.html


https://www.geekcert.com/PW0-104.html
2021 Latest geekcert PW0-104 PDF and VCE dumps Download

D. Rate Set Selectivity 

E. Adaptive Rate Management 

Correct Answer: A 
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